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Write the SLOPE-INTERCEPT form of the equation of each line.
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Write the POINT-SLOPE form of the equation of the line througfl the given point with the given

slope.
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Write the STANDARD form of the equation of each line.
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Write the SLOPE-INTERCEPT form of the equation of each line.
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Sketch the graph of each linear inequality.
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Which point will solve each system?
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28) The senior classes at High School A and High School B planned separate trips to the local
amusement park. The senior class at High School A rented and filled 7 vans and 1 bus with 90
students. High School B rented and filled 2 vans and 5 buses with 219 students. Each van and each
bus carried the same number of students. How many students can a van carry? How many students
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29) Kathryn and Ndiba are selling cookie dough for a school fundraiser. Customers can buy packages of
chocolate chip cookie dough and packages of oatmeal cookie dough. Kathryn sold 8 packages of
chocolate chip cookie dough and 8 packages of oatmeal cookie dough for a total of $240. Ndiba sold
5 packages of chocolate chip cookie dough and 4 packages of oatmeal cookie dough for a total of
$135. What is the cost each of one package of chocolate chip cookie dough and one package of
oatmeaI cook1e dough'?
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32) Explain what a break even point is and how to find it. ‘ ,
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Simplify. Your answer should contain only positive exponents. '
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Write each number in scientific notation.

38) 190000

39) 0. 0046
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Write each number in standard notation.
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